Exam Name :  Education HNGU

Total Questions : 100
Description
Q.1 The data derived through experimental method :

UL BLS usg(del Hag Hifedl

Question ID:
Marks 1 10090043
No Options Details Correct Option
1 | is not from a natural setting Strdl dlledrilel] «lel Ha v
2 | lacks specific measurement [cll® HIuet] a1eilg
3 | is unrealistic vldlds
4 | is artificial sy
Q.2 Which one of the following is a constraint for adopting historical method of research ?
A ldsls AMUstHi 1A 10d 520 [A56Y 2dAY Vel 53D ?
Question ID:
Marks 1 10090044
No Options Details Correct Option
1 | Lack of technical advancement dseilsl walldell v1eild
2 | Non-availability of primary data ylHs Hilsdledl Ay Rdl v
3 | Ambiguity of concepts U5 et lo] WU BAL
4 | Subjective Information dgaed] Hiledl
Q.3 After completion of work, on a research problem, the report was discussed in a scholar's meet, and

researcher was suggested to change title of problem and hypothesis based on the data analysis. This is :

W s luAHRUL YRl sul oile, WSdld UHIEL D sd o] HIRaA, 241 (11U Ad R ¥ HilSdl Y s50s1l 2

Question ID:
Marks 1 10090045
No Options Details Correct Option
1 | Logical and appropriate dllss wed Yoy
2 | Processes systematisation of report W&dldel Ueg[dUR sclletl Ulsl
3 | llogical and not desirable WdLl5S vol W[ed2894[Y v
4 | Improving the validity of report vledlGet] UHIRI AL YHllelle




Q4 Given below are the steps of a scientific research. Arrange them in order : (1) Formulation of Hypothesis
(2) Development of research tool (3) Identification of research problem (4) Selection of sample (5) Data
analysis and interpretation

o{1A w10¢ ASiLlels AN tetoll ULl sHHI A6d) : (1) GesCUeil U] (2) HMtel GUSAAeAL 2UstL (3) U2l

Question ID:
Marks 1 10090046
No Options Details Correct Option
111,23,5/4 1,2,3,54
2 11,43,2,5 1,4,3,2,5
313,41,25 3,4,1,2,5
4 131,245 3,1,2,4,5 v
Q.5 which of the following is common in all true experimental and Quasi experimental design ?
AR URILOLS Alogetl 1l Hil215 UIALELS Alogell Hi WMl s3 AlHI B 2
Question ID:
Marks 1 10090047
No Options Details Correct Option
1 | Control group ERIERET v
2 | Randomization ULe (269501
3 | Pre-testing and Post testing yd sylel Al Gdr sulel
4 | Pre-testing yd sylel
Q.6 Which of the following research need hypothesis testing ?
o{12 Us] sl LN YstA Geseustl UslAofl ¥Rl B ?
Question ID:
Marks 1 10090048
No Options Details Correct Option
1 | Historical research v[dellds vellued
2 | Ex- Post Facto Research ¥ 5y Ul 552l vallded v
3 | Ethnographic Research <] cl21QL13t Al
4 | Case Study Research s WYY Hellet




Q.7 Snowball sampling method

llold siyetl Ued(d
Question ID:

Marks 1 10090049
No Options Details Correct Option
1 | Is most preferred technique during survey AL Useg[d e [HA LA Al ay yyedlledl dseils

method
2 | Provides representative sample for VIRLPLS e Hi Uldldld [«leQl Ueled 52 6

experimental study
3 | Is suitable to identify sample from unknown WSlLd YH[RHIL [Ae2l MWL HIe ALY 8 v

population ‘
4 | Use rolling ball machine to get random sample 312895 [c1£2l Hordd] Hie UG ¢ild Hellede1] (
Q.8 In a reaction scale, the scale value is from 0 to 5. which of the following scale of measurement is

applicable for the data collected by the scale ?

W5 UldUR Be GUR BHi 36 Ay 0 & 5 8. «[1A Us) 5A) Bt HLlEA] WAl 12 GUALH] AdILl 2

Question ID:
Marks 1 10090050
No Options Details Correct Option
1 | Nominal scale BNV HIY
2 | Ordinal scale WeoisH HIY
3 | Interval scale Wl HIY v
4 | Ratio scale QLR HIU
Q.9 How an achievement test is different from Entrance test ?
Rileg, s:121 uletl wa vl Ui 9f 55 8 2
Question ID:
Marks 1 10090051
No Options Details Correct Option

1 | Achievement test needs high content validity [ [¢¢ slel URI&IHL G [ANYd¥g UHIRIMAdL
whereas Entrance test needs high construct
validity.

2 | Achievement test needs high construct validity [d[eg sul2] UM U1 lel] G UH RIS ddl &
whereas Entrance test needs high content
validity.

3 | Achievement test needs high predictive [Uleg sUlel UM G YIRBILAHS UH LRI AL
validity whereas Entrance test needs high
content validity.

4 | Achievement test needs high content validity  [d[eg sulel UR|&lHI G [dNUdrd UHIRIMd L v
whereas Entrance test needs high predictive
validity




Q.10 What is the main objective of education research ?

(21131 Al teiotl Yuy G221 QY B ?

Question ID:
Marks 1 10090052
No Options Details Correct Option
1 | Grading students [cariea]e oL 4 1udl
2 | Solving education problems [21&181el] YHRIIA AL G54 dlddl v
3 | Training teachers (218151l U181l A 1uUg
4 | Choosing a school el Yy edll sdl
Q.11 What is the first step of research ?
delbele] ueq ualer] sy 8 2
Question ID:
Marks 1 10090053
No Options Details Correct Option
1 | Data Collection Hiledl AsAls0l
2 | Data Analysis HllEdle] Yy S5
3 | Identifying the research problem Hellted HHRY L w|nwd] v
4 | Report Writing w&dle qug
Q.12 What does "hypothesis" mean in research ?
AN eeAH “GsUstl” o) wel Q) Uld B ?
Question ID:
Marks 1 10090054
No Options Details Correct Option
1 | Result VIEIETE
2 | Assumption WajH el v
3 | Proof ULl
4 | Method Ueg[d
Q.13 How many types of educational research are there ?
Q&1 [BLs ANuetell Zedl UsR §1u B ?
Question ID:
Marks 1 10090055
No Options Details Correct Option
112 2
2|3 3 v
3 |4 4
4 |5 5




Q.14

Which area of research is useful for improving the education process ?

dglteia 53 A (21&1Qlell WlsAl YulRal 12 GUL] & 2

Question ID:
Marks 1 10090056
No Options Details Correct Option
1 | Philosophical research dedStlel Yellted
2 | Scientific research dsiills Yelldel
3 | Action research [sUlHS Hellds v
4 | Historical research U[dsLls vLlldsd
Q.15 When is a Type 1 error considered ?
USIR -9 ofl ¢ SUIR ALY ?
Question ID:
Marks 1 10090057
No Options Details Correct Option
1 | When we reject the false null hypothesis Wlel gedl Bes&Uedlell ISR S UR
2 | When we reject the true null hypothesis AR 2Lt GesCUeled] 1RSI 5 UR v
3 | When we do not reject the false null W2l Qe Bcs@eloll ISR o1 5 AUR
hypothesis
4 | When we do not reject the true null hypothesis IRl 2Lt BcEEUed lot] WRALSIR ol 5 RUIR
Q.16 Which of the following types of research is known as qualitative research?
oflAt1 U1 5] LM Hstel) USI2 ARILHS ALt dZ WY B 2
Question ID:
Marks 1 10090058
No Options Details Correct Option
1 | Analysis of exam results URe1l URBLML [N gL
2 | The sum of the qualities | Rllef YY)
3 | Class attendance calculation s&lleil el AuldRl
4 | Study of student behaviour [celel[uleil ddetat] YLy v




Q.17 A good academic researcher is

WS YR AadBLs Aus B

Question ID:
Marks 1 10090059
No Options Details Correct Option
1 | Dependent on his teacher Uldlell [2L81s UR [l € 6.
2 | Follower of research plan strictly HllYel Yloyeil YLSULOYAS U2 8.
3 | Open minded and radical Y5 ¥el HNGd [dYIRSs sl 8. v
4 | Highly knowledgeable G slleil sl 9.
Q.18 Which one of the following is not correct ?
o1 Qeli (Atilol US] 53 [Atilet WG D ?
Question ID:
Marks 1 10090060
No Options Details Correct Option
1 | Any person can do research 516 URL s Yellted s 2Us.
2 | Research may be without a hypothesis GsEUedl AR HulYed UE 2S.
3 | Research requires library facility Alldeis) Hie Ydslad Yldu ]l e 1d
4 | Research is not always systemic HQltel SHRLL UlXetlodeg o1l eld,. v
Q.19 Which one of the following tools would yield relatively most valid data ?
o1 wAdl AN eel GUsANH el sUl GUSAA dS HEtH A WisSIUIH U ?
Question ID:
Marks 1 10090061
No Options Details Correct Option
1 | Observation schedule v{ddlsel YRAL v
2 | Rating scale YHLRL HIUe A REI
3 | Opinionnaire w[eudlad]
4 | Attitude scale dguel HIUeS
Q.20 The term "research results" refers to -
Aoyt sladielfl diRaell 2ed -
Question ID:
Marks 1 10090062
No Options Details Correct Option

Data analysis and interpretation Hiledle] Y&USSAA Aol 3eelesl

2 | Deriving conclusions from the interpretation of HLl&dlell W&eleel Y[ dRARLl=A] ULy
data
3 | Deriving results from hypothesis testing G5t lof| YSIARIL U] U[RRLHAAL dlRdRll
4 | None of the above GuHIL A5 uRl stel v




Q.21 What is the term used to describe the method of gathering information in research?
AN oAU Beil o3 Hilsdl AnddiHi w1d & Al Q) s&dIHi 11d 8 ?
Question ID:
Marks 1 10090063
No Options Details Correct Option
1 | Program SIsH
2 | Treatment Hld%d
3 | Tool Gus:wal v
4 | Sample selection o{Heil UYLl
Q.22 In the operational definition of a variable
Ydefl cldelRs vy M
Question ID:
Marks 1 10090064
No Options Details Correct Option
1 | The meaning of the variable is given. UGel] WY WML A1 &,
2 | Avariable is understood as a synonym for Yol YH LA LU] 1o Ued [ YHudH] w1d 8.
another term.
3 | Itis described by providing essential [clay cugRAIHIYT AR Hiledl 141 dgl
information from various definitions.
4 | Details about the measurement of the variable U@eil HIUel 3{I\el] [cdld A [UH] 211d 6. v
are provided.
Q.23 A reliable test is -
(s elly s5412] A4 -
Question ID:
Marks 1 10090065
No Options Details Correct Option
1 | True measuring test AR HIUCL sulel
2 | Atest that measures the same thing at [cllay qHY YL HIUe Sl sulel v
different times
3 | Non-self-centred test WellcHgell sulel
4 | Practical test del> sylel




Q.24 Through pretesting in tool construction -

GUSAL UM ydere a3 -

Question ID:
Marks 1 10090066
No Options Details Correct Option
1 | Experts are reviewing it. (AN L] ULy vl spAdd ML 2ld 8.
2 | Necessary information is obtained from the WRYYell Sl WA IR Ul ulHe] e Hile
characters according to the objectives of the
study.
3 | The items are being collected. 56Hle] 1575 AL 41d 9.
4 | Suggestions for improvement are received. {URELL Aol YYeil HA O, v
Q.25 What type of tool is useful for measuring a capacity ?
516 &Hdlell HiUel U2 531 USIRe] BGUSWL GUAL( B 2
Question ID:
Marks 1 10090067
No Options Details Correct Option
1 | Test sylel v
2 | Questioner EEIC]
3 | Rating Scale $H HIULS
4 | Observation Halsld
Q.26 Research is
Uelltet Aed
Question ID:
Marks 1 10090068
No Options Details Correct Option
1 | Searching again and again dlRdl? ellY sdl
2 | Working in a scientific way to search forthe  SIOURL YHRI Il Y=l lludl Hie dstlfeis ]d ¢ v
truth of any problem
3 | Finding a solution to any problem S1OURL HHRYI-1] G54 2lludl
4 | None of the above GURLsdHI] 519 el




Q.27 A null hypothesis is

QLo GS&Usil W B

Question ID:
Marks 1 10090069
No Options Details Correct Option
1 | when there is no difference between the R UGl A S19 dsldd < A v
variables
2 | the same as research hypothesis ALl BsUeil %d] %
3 | subjective in nature e Id c[sdael
4 | when there is difference between the variables %12 UGl d2] d§ldd SlA
Q.28 The process not needed in experimental research is:
URIALS AALHAUT B U5l %02 clell d B
Question ID:
Marks 1 10090070
No Options Details Correct Option
1 | Observation wdG| s
2 | Manipulation and replication W[5 ¥el Yol dded
3 | Controlling ERETEN
4 | Reference collection Hee HAS v
Q.29 Which of the following statement is correct ?
oAUl 53 [Atilet U1 B ?
Question ID:
Marks 1 10090071
No Options Details Correct Option
1 | Reliability ensures the validity [AddeAlRjAdl ddLdl Yletlsdd 52 9.
2 | Validity ensures reliability Al [dsddollAdl Yletlald 52 8,
3 | Reliability and validity are independent of [z AUl 2ol ALl W soil] xdA . v
each other
4 | Reliability does not depend on objectivity [dddeAlAdl Ge2d U AU L[Rd «12].




Q.30

Aelltel wéalau] 2410 Ay (U

Bibliography given in a research report:

Question ID:
Marks 1 10090072
No Options Details Correct Option
1 | shows vast knowledge of the researcher Hllysey [delln Sile ¢2lld 8
2 | helps those interested in further research dy YolluaH Y Hlddl dlsld Hee 528 v
3 | has no relevance to research Hlldel A1e 516 YAlddl «1el
4 | all the above GURASA dHIH
Q.31 The study in which the investigators attempt to trace an effect is known as:
% Y UHI AL S] WUR Aledledl YALA 52 B del 4L 31d 2wd i w1d 8:
Question ID:
Marks 1 10090073
No Options Details Correct Option
1 | Survey Research Ad el vellued
2 | Experimental Research UIRIL[3LS HLLlted
3 | Historical Research W[dellus dellusd
4 | ‘Ex-post Facto’ Research A SY-ULR S5l delldet v
Q.32 Fundamental research reflects the ability to:
YA At o{1Aefl e Uldoifoid 52 8:
Question ID:
Marks 1 10090074
No Options Details Correct Option
1 | Synthesize new ideals olcl| WLe2Ule] UNRL 59
2 | Expound new principles old| [degldl duosiddl v
3 | Evaluate the existing material concerning Hlldel Hol[td eldedl UIHAl] HRULSe 5]
research
4 | Study the existing literature regarding various  [d[d¥ [dN] Hoi[td Sldeil YL[ERdl MUY 53

topics




Q.33 Which technique is generally followed when the population is finite ?

oRUIR A UAd HUED Q1Y R ULHLY 1A 56 dSeilseil GUALL LMl 1A B 2

Question ID:
Marks 1 10090075
No Options Details Correct Option
1 | Area Sampling Technique &3 oYl ddleil dseils
2 | Purposive Sampling Technique EqURl eiHeil ddllet] dseils
3 | Systematic Sampling Technique d[RUd «iyeil ddleil dseils v
4 | None of the above GURLsdH1el 519 el
Q.34 Research problem is selected from the stand point of:
AQAelet qHRIL «{1Aell (B sleIel ue saAlHl 241 B:
Question ID:
Marks 1 10090076
No Options Details Correct Option
1 | Researcher’s interest vllusel [ed
2 | Financial support olRlLS[A USIY
3 | Social relevance UMHLS YUdlddl v
4 | Availability of relevant literature Ao dd dllecdd] GUuauddl
Q.35 Which correlation coefficient best explains the relationship between creativity and intelligence ?
Ut LSl W offegHeil ARl Aot AY A sAL UsA6iY YRLis GlRL AU 2ASIA D 2
Question ID:
Marks 1 10090077
No Options Details Correct Option
1 1 1 v
2 |06 0.6
3 (05 0.5
4 |03 0.3
Q.36 Which word form is not correct?
Question ID:
Marks 1 10090078
No Options Details Correct Option
1 | Clotheful v
2 | Clothing
3 | Clothed
4 | Clothe




Q.37 Nothing done when the boss is away.

Question ID:
Marks 1 10090079
No Options Details Correct Option
1 Becomes
2 | Gets v
3 | Been
4 | Got
Q.38 Please, let me !
Question ID:
Marks 1 10090080
No Options Details Correct Option
1 | Think v
2 | Have
3 | Make
4 | Put
Q.39 The professor's lecture was so that many students fell asleep.
Question ID:
Marks 1 10090081
No Options Details Correct Option
1 | Engaging
2 | Monotonous v
3 | Stimulating
4 | Concise
Q.40 Although he was , he remained optimistic about the future.
Question ID:
Marks 1 10090082
No Options Details Correct Option
1 [ Wealthy
2 | Jubilant
3 | Destitute v
4 | Fortune




Q.41 Find the wrong term in the latter number series given below G4T, J10R, M20P, P43N, S90L

o{1A W0 Goilu Auul AR W12 Lot 21k,

Question ID:
Marks 1 10090083
No Options Details Correct Option
1 | G4T G4T
2 [ JIOR J10R v
3 | M20P M20P
4 | P43N P43N
Q.42 In a certain relationship M/N means M is daughter of N M + N means M is father of N M - N means M is
mother of N Answer the following question based on data above In the pattern F*G/H - | how is | related to
G?
Alssy AodtHi M/N 228 M A N ol Y=l & M + N 12a M3 N <l [Ucdl & M-N312a M 4 N «{l Hidl & G
Question ID:
Marks 1 10090084
No Options Details Correct Option
1 | Mother Hldl
2 | Sister 0 &al
3 | Niece 1A[%)
4 | No relation 519 Yoy «ls] v
Q.43 Find out the missing number : 4, 9, 20, 43, ...
udl duul e 4, 9, 20, 43, o
Question ID:
Marks 1 10090085
No Options Details Correct Option
1| 84 84
2 (90 90 v
3 | 108 108
4 | 133 133




Q.44 Find the next term of given series. ABD, DGK, HMS, MTB, SBL, ....cccccrrrreeeeen.

W0 AR{leA] w41910e) U, 1E). ABD, DGK, HMS, MTB, SBL, v

Question ID:
Marks 1 10090086
No Options Details Correct Option
1 | ZKU ZKU
2 | zkw ZKW v
3 [ XKW XKW
4 | ZAB ZAB
Q.45 Which of the following is in descending order ?
o1 Aet el 53 Gl sHUI B ?
Question ID:
Marks 1 10090087
No Options Details Correct Option
1 | 5/8,9/13,11/17 5/8, 9/13, 11/17
2 | 5/8,11/17,9/13 5/8, 11/17, 9/13
3 | 9/13,11/17,5/8 9/13,11/17, 5/8 v
4 |1 11/17,9/13, 5/8 11/17, 9/13, 5/8
Q.46 Which of the following language does the computer understand ?
512422 o[ At [Hi] 56 HINL UHD B ?
Question ID:
Marks 1 10090088
No Options Details Correct Option
1 | Computer understands only Binary Language 5822 §5c G81] MLINL AHY & v
2 | Computer understands only C Language §RYRR §5cl C MINL UMD 8
3 | Computer understands only Assembly §R2R §5cl WUHHE] HINL YHY &
Language
4 | Computer understands only BASIC 5122 §5d BASIC 44U &
Q.47 Which of the following is the brain of the computer ?
oAt Ml 53 114224 HII% B ?
Question ID:
Marks 1 10090089
No Options Details Correct Option
1 | Memory HuRl
2 | Arithmetic and Logic unit VSR el dS5 wsH
3 | Control unit ERETRNER]
4 | Central Processing Unit Aod ULA [ Y[ v




Q.48 Which of the following is the smallest unit of data in a computer ?
51212311 32 1of] A& otlol) W sH of1Aei Ml 5A) B 2
Question ID:
Marks 1 10090090
No Options Details Correct Option
1 | Bit Bit v
2 | KB KB
3 | Nibble Nibble
4 | Byte Byte
Q.49 Which of the following unit is responsible for converting the data received from the user into a computer
understandable format ?
o1 Astiuief] 53 WsH dupASAl UIRAL] UIH Sela 5122 M%) 2slA ddl slHeHi 2UidRd sdl HIR sdle
Question ID:
Marks 1 10090091
No Options Details Correct Option
1 | Output Unit ¥{1Beye Y[-ie
2 | Input Unit Belye Y[ele v
3 | Memory Unit HHRL Y[ele
4 | Arithmetic & Logic Unit WSIA[Rld ved dS sH
Q.50 Which of the following service allows a user to log in to another computer somewhere on the Internet ?
o{1Astiuief] 58 Adl dURAASALA Ber2 U SIS oilost s12M €l 8ol 5dllof] Hogdl A1 B 2
Question ID:
Marks 1 10090092
No Options Details Correct Option
1 | E-mail g-He
2 | UseNet Yol
3 | Telnet cdeie v
4 | FTP us.2l.ul




Q.51 Which of the following statement is not true according to Rousseau ?

2ol Hdlo AR «ilAet il 53 (aitel A1) =12l :

Question ID:
Marks 1 10090093
No Options Details Correct Option
1 | Boys ang Girls Should have similar education. €15 A=l 91541 UH Ll (2@ Hodd X1 v
2 | Society exerts negative influence on the LSl [ARL U UHI% oiSIRIHS Uld Gledl
education of children.
3 | Values arise from children with environment.  UALREL Y1&ell WlAS|eil WldedsRe] HRU (
4 | Education should not be hurried. (21818 Bdldl o ¥ 1Ug 1.
Q.52 “Existence precedes essence” means :
“u [Reled Ucds] YA 8.7 o) 20l 24e] a2 ?
Question ID:
Marks 1 10090094
No Options Details Correct Option
1 | Man’s life begins before birth. Hel®|o] X)clet et USEL 2> &I 8.
2 | Man has no existence, but only essence. Hel®le] 3 [cdcd «1e]], HIA Acd 8.
3 | Man’s existence has no meaning. Hel Rl | 3 [clcclel 52Ul 118 «18].
4 | Man is born first and creates his meaning later Hei®| USH| %eH & 3ol US| Uldloll 2 &le] A% v
on.
Q.53 Which school of philosophy favors co-curriculum ?
(scyslell 58 ([AURYI SlEPU WA 5HoA] B 53 D ?
Question ID:
Marks 1 10090095
No Options Details Correct Option
1 | Idealism Wleldls,
2 | Realism dlrdddle v
3 | Naturalism uslddle
4 | Existentialism WRdcddle




Q.54 The aim of education according to existentialists is
W Redcdd 1€l Yosod (218181 A 2}
Question ID:
Marks 1 10090096
No Options Details Correct Option
1 | Objective Knowledge Syl Sile
2 | Adaptation to practical life |dslRS Ydelo] Wl 5Gel
3 | A good understanding of the world outside LeL gl let] AR] HH
4 | Humanitarian and humanist self - realization ~ Hleld|d ] Hlelddldle] alleq@f[d v
Q.55 Preamble to the Constitution of India mentions different types of liberty for the people of India. Which types
of liberty, out of these, have direct bearing practitioners in the field of educations ?
HIRdetl oitlRRle{l UdldeHi ®Rdetl dls) HLe (aldy uslefl 2ddAdlel Geauw saldi qicdl 8. duiell s
Question ID:
Marks 1 10090097
No Options Details Correct Option
1 | Liberty of belief and faith Hiocll el Beglet] AL
2 | Liberty of thought and expressions (AR uel W[ [Scdet] eldAdL v
3 | Liberty of faith and worship Regl el BUdlYedl dAdlL
4 | Liberty of expression and belief B[ [5cd ¥l HiRldled] :aAdAAdL
Q.56 The concept of equality of educational opportunity is not associated in one of the following schools. Which
are they ?
o1 Aetiel]l suL USIRAl o e1(Bl5 dsefl UHleidlell wuld As0AE) otef] 2
Question ID:
Marks 1 10090098
No Options Details Correct Option
1 | Navodaya schools oidled [delle]
2 | Government schools AR ella Al
3 | Public schools ylogs 54 v
4 | Ashrama schools YERTETGTEN]




Q.57 Sociology analysis the ‘process of interaction’ as

AU Es2ALA Hid sUlell ulsle [Aaang dis 2 8.
Question ID:
Marks 1 10090099
No Options Details Correct Option
1 | Conflict ey v
2 | Enlightenment Yo{ere]
3 | Thinking [CEIEIEM
4 | Welfare SR|I-L
Q.58 Based on the recommendation of commission, the first national Policy on Education was
formulated by Government of India
Yoll HEIHRIeAL AR HIRd 512 (U&1Qlell ey _AYTY ofl(dell 2ua1l s M 241d6]
Question ID:
Marks 1 10090100
No Options Details Correct Option
1 | Kothari sloRRl v
2 | Mudaliar HelddlR
3 | Radhakrishnan UYLE™MLed
4 | Yashpal YAUlg
Q.59 Islamic tradition in education lays stress on inculcation of which of the values?
[Rueteuui el uuRl «{1AeiMiefl 53l Yol GURA U HIR Y5 B ?
Question ID:
Marks 1 10090101
No Options Details Correct Option
1 | Equality and Equity AU eldll Wl [ &L
2 | Freedom and discipline ddAdl W (2l
3 | Humanity and nobility Hlelddl el Wletglei] v
4 | Quality and excellence JRldll Wel GBSl
Q.60 Aurbindo’s philosophy is-
] w2[dotqd] (saysl 8-
Question ID:
Marks 1 10090102
No Options Details Correct Option
1 | Vedantist dg el
2 | Realists dlRdddlel
3 | Integralist UHedyd el v
4 | Metaphysical CINIRE




Q.61 Yashpal Committee Report is titled as

YQuule UM [del] 24&d e 20N 8.
Question ID:
Marks 1 10090103
No Options Details Correct Option
1 | Learning by doing dle]dl 61y S8
2 | Learning through example d[e]dl g wlsd
3 | Learning without burden de1] [qul1Be WSel v
4 | Cooperative learning slnlyeld (el
Q.62 The ‘National Knowledge Commission’ laid down guidelines for betterment of
of] YHRELLHIR AYIY Stiet AR HId{e(2(s1 [Fud 53] .
Question ID:
Marks 1 10090104
No Options Details Correct Option
1 | Elementary Education ulR(els (211wl
2 | Secondary Education SRR CIETE]
3 | Pre-primary Education yd Ul [Hs (2181 L
4 | Higher Education G 218111 f
Q.63 No nation can progress in the absence of
o] A& 1AM 516 2.2l WLl Al 25l -1l
Question ID:
Marks 1 10090105
No Options Details Correct Option
1 | Social Progress Al L[ws vatld v
2 | Political Progress AsIA YdLd
3 | Economic Progress v{L[els Walld
4 | Technological Progress dsleisl vatld
Q.64 A major concern of sociology is :
U 1A 3] ¢ [N Hscde] 9 & 2
Question ID:
Marks 1 10090106
No Options Details Correct Option
1 | The provision for control of disruptive AHIH] M| Glefl 511 ddeleil [~
behaviour in society.
2 | The evolution of society. AU I%=1] Geslld. v

3 | to evolve a production system in society. AHIHL Gelleel cdel QL] sdl.

4 | to evolve a distribution system in society. AHIHL [AdQL el Gleil s:dl.




Q.65 ‘Sarva Shiksha Abhiyan’ has been designed to :

Ud (1811 L (C1ULel’ ofl el $aHi 211Ad D B -

Question ID:
Marks 1 10090107
No Options Details Correct Option
1 | meet the educational needs of the poor. JRI] Qe[S 1A sl ULH 52U QLS.
2 | address the aspirations of the masses. oA UHE Al LS8R LA HdIN] 2SI,
3 | fulfil constitutional obligations. oY [RRLY %121 1O |-l U[RYLL 521 2SI, v
4 | please the weaker section of the society. AU (=11 o101l ALl WLl s LS.
Q.66 Who emphasised realizations of truth, beauty and goodness as the aim of education.
519 (21&1Q1e1 LAY dE U, edl W ARG Rileg U ¢11R YU &l ?
Question ID:
Marks 1 10090108
No Options Details Correct Option
1 | Idealists DMEEICTEAR v
2 | Realists diRdddlelul
3 | Naturalists uslddalelul
4 | Pragmatists déeRdleln]
Q.67 Which of the following committee/Commission exclusively addresses Teacher Education in India ?
o1l U] 53 YA [AR @lRcletl Hist [RUe18l - UlRI&RIA eleiui ALl e el 531 8 2
Question ID:
Marks 1 10090109
No Options Details Correct Option
1 | Yashpal Committee douyld dMHld
2 | Justice Varma Committee %[ dul A[H[d v
3 | Kothari Commission slolRl U
4 | Chattopadhyay Commission YU VY
Q.68 Who governs the academic policies of the colleges of education ?
(Rue18L Hel(agidd) Uil [aaislellds] ([umel 51 53 8 2
Question ID:
Marks 1 10090110
No Options Details Correct Option
1 | NIEPA NIEPA
2 | NCERT NCERT
3 | NCTE NCTE v
4 | NAAC NAAC




Q.69 Which five year plan recognised the importance of human capital ?

58 YN Aoget 1) Hiotd YSlof Hecdd vilnuy sq 2

Question ID:
Marks 1 10090111
No Options Details Correct Option
1 | Fourth five-year plan Yl UYAN[Y eyl
2 | Fifth five-year plan IR AN [ f[el]
3 | Sixth five-year plan 95l UAAN[Y Y|ogei]
4 | Seventh five-year plan AldH VAN [Y Yleyei] v
Q.70 Which is the first Open University in India ?
HIRce] weH weq ([dsd(aaidy sy 8 2
Question ID:
Marks 1 10090112
No Options Details Correct Option
1 | IGNOU, New Delhi IGNOU, <td] [ecel
2 | Dr. B. R. Ambedkar Open University in SL 6. AR, WU Y[d[Hel, serlolle v
Hyderabad
3 | Dr. Babasaheb Ambedkar Open University in ST, GLIG{IULEM WIMSS WUt Y[Ac[He], MHel
Ahmedabad
4 | Yashwantrao Chavan Maharashtra Open AQddld Yl HERY wlUst Y[eid[Hel, «l[us
University in Nashik
Q.71 The statistical test developed by Spearman to find out the underlying factor of intelligence is ?
(e [cifed eesla Dl sladl Hie RuARst G121 [Asdiddidi 11d6] 2isu13ly s112le] o1id Q) ] ?
Question ID:
Marks 1 10090113
No Options Details Correct Option
1 | Factorial design W[ S Y|oseil
2 | Analysis of variance CRIEISN CENE]
3 | Factor analysis ges [deNgl v
4 | t-test el-sylel




Q.72 The personality of individual is

U (Scto] c(sded A 8.
Question ID:
Marks 1 10090114
No Options Details Correct Option
1 | Afixed state of one’s behaviour 5191l ddetel] (212 (M) UR[Reld
2 | A psychological term for character Y[RA HLe HelldsiLlels Lot
3 | A dynamic and continues process IRULHS Wl Add UlsUL 9. v
4 | A concept developed by educators AR ESVET CETE
Q.73 Development of feeling of appreciations and interest come under the domain of
562 Wl 4el] Midellell [Asidell YHIdel IECTETRITEIN:
Question ID:
Marks 1 10090115
No Options Details Correct Option
1 | Cognitive development aspects SllellcHs [dsldef ULy
2 | Cognitive development of personality [Scdcdell StlellcHs [dsly
3 | Affective domain HldleHS ULy v
4 | Psychomotor domain HetlolRIRS ULy,
Q.74 Which of the following is not a stage theory ?
o{1Ast1 US| $U) (Regid doissl elldd) Riegid tell 2
Question ID:
Marks 1 10090116
No Options Details Correct Option
1 | Piaget’s theory (U081l
2 | Bandura’s theory ollgRlell v
3 | Erickson’s theory N EEEE
4 | Freud’s theory 519501l
Q.75 Social learning theory was proposed by
UlML[ws WAt Riegid ] &dl.
Question ID:
Marks 1 10090117
No Options Details Correct Option
1 | Wolfgang Kohler qesoll sledr
2 | David MacClland slds HsqeS
3 | Abraham Maslow WOALEH HIRE1
4 | Albert Bandura Y2 Glgrl v




Q.76

The term gestalt means

Aeleeell Y U B

Question ID:
Marks 1 10090118
No Options Details Correct Option
1 | Part 1oL
2 | Circle dqul
3 | Configuration (A whole) UHY v
4 | Shapeless v sRRIdel+
Q.77 An approach to counselling in which the therapeutic process is based on the judgment of the counselor is

called.

BUL USR]l [AAS64(eg U GUALR Usg[doll B1H 1R S1A Al uElesI (oM sA) § 2

Question ID:
Marks 1 10090119
No Options Details Correct Option
1 | Non-directive counselling [0 [eRLIYUS UdlssA
2 | Directive counselling [£2LlyUS YalssIA v
3 | Vocational counselling R dYL[US velesld
4 | Occupational counselling dels(A Yalesld
Q.78 Humanistic approach of counselling does not encourage
URAHLLeAsTl HistddId €] (¢ o VltlSel WUl «efl.
Question ID:
Marks 1 10090120
No Options Details Correct Option
1 | Curiosity JstlRll
2 | Empathy Aeleild
3 | Intuition A clSllet
4 | Unconscious drive v Ad WU (drives) v
Q.79 Thorndike’s theory of learning is based on
elofS1E 5ol At e U2 wHIRd 8.
Question ID:
Marks 1 10090121
No Options Details Correct Option
1 | Reinforcement HUees
2 | Conditioning O] (T O
3 | Operationism Hldel dle
4 | Connectionism os1slel dle v




Q.80 Which of the following is not a principle of development ?

ol Aet il s Riegict (A5l Riegid «ieil ?

Question ID:
Marks 1 10090122
No Options Details Correct Option
1 | Development is continuous (sl AldAYRL 9.
2 | Development is directional [dslY [eQYUS 8.
3 | Development is irreversible CERTRYERE] v
4 | Development is universal CERTEICIEER:]
Q.81 Learning means :
e Yelofl e :
Question ID:
Marks 1 10090123
No Options Details Correct Option
1 | Teaching Process (L8181 Ulsl
2 | Curriculum Change WY [YSHHUL SR
3 | Change in Behavior ddel 5§ v
4 | None of the above WHL] 519 -lls
Q.82 The term ‘social stratification’ refers to :
UHL[S s 2ed
Question ID:
Marks 1 10090124
No Options Details Correct Option
1 | Unstructured social inequality HIOWIYSA HIHLS MU LeddlL
2 | Unstructured social equality HIOWIYSA UIHLS UHLeAdL
3 | Structured social inequality HlNWL0deg AIH L[S WUHLeldl
4 | Structured social equality HI0WuL0deg A L[S dHLeldl v
Q.83 National Commission on Teachers - 1 was chaired by
AV (21815 WAL - 1 oll weuel Sdll.
Question ID:
Marks 1 10090125
No Options Details Correct Option
1 | C.L. Anand RN ARV
2 | D.P. Chattopadhyay SLoul ygluieiy v
3 | Yashpal Ylylg
4 | Ramamurti AUHH[d




Q.84 “Taxonomy of cognitive behaviours” is one significant achievement as an off shoot of.......c... school
of thought.
‘6l LcHS ddetell @qudle a0 A 565 ([QURUIRIS Ws WAL Gy & 2
Question ID:
Marks 1 10090126
No Options Details Correct Option
1 | Cognitivist ofleleHdle
2 | Constructivist UYslldlE
3 | Humanistic Hlslddldle
4 | Behaviouristic ddeidle v
Q.85 The Rashtriya Madhyamik Shiksha Abhiyan Scheme was launched in the year
AT Y5 (181l w4 [Cled Alogetlof) 1 gy Hi Al edl.
Question ID:
Marks 1 10090127
No Options Details Correct Option
1 | 2002 2002
2 | 2005 2005
3 | 2009 2009 v
4 | 2014 2014
Q.86 NCF (2005) proposed changes in curriculum of
NCF (2005) ol WA SHHI URddel 52clo) Urdlld YKI) &d).
Question ID:
Marks 1 10090128
No Options Details Correct Option
1 | Higher Education Gl (21818l
2 | Teacher Education (2Lels [Ql&1al
3 | Technical Education dlseisl (218181
4 | School Education EIIEENEIEIE v




Q.87 ‘t’ test, ANOVA or ANCOVA can be used for data analysis only if the data are obtained in
UM U (dell ed Raddidi Hicdl €14 AR % Ued ([asayel di2 ‘¢ 5121, ANOVA 5 ANCOV
Question ID:
Marks 1 10090129
No Options Details Correct Option
1 | Nominal or Interval WY (cHEell) Md] Hdld
2 | Ordinal or ratio SHIS wedl LR
3 | Interval or ratio vdUd ] IRlldR v
4 | Ordinal or interval SHLIS HYd| AHdrl4
Q.88 Due to which type of the following items of the test the range of scores increases ?
5A12)edl oflAet1iel]l 5L USIReAL [QaLdlA $1RQ ULHISA (R ad & ?
Question ID:
Marks 1 10090130
No Options Details Correct Option
1 | Too easy Wo 1A
2 | Too difficult Wl 5[6e1
3 | Average difficult URALL 5[6e1
4 | Combination of Aand B A el B o [HB1L v
Q.89 The research conducted by Pavlov to develop classical conditioning theory of learning is a
type of research.
UIB1U A Gt lol Riegidell (AsI 5l HI2 Uldeld 53¢ illeel A US[R9] A2l B,
Question ID:
Marks 1 10090131
No Options Details Correct Option
1 | Applied ldellRs
2 | Action [sULHS
3 | Fundamental Ullle v
4 | Correlational HEeUHYLHS




Q.90 Triangulation is a method used in

(518015211 Ad] Uegd & Bl Gulal

oY 8,

Question ID:
Marks 1 10090132
No Options Details Correct Option
1 | Only in quantitative method §5d YuALHS Uegld
2 | Only in qualitative method §5d JRILHS Uggld
3 | Both quantitative and qualitative method IRILHS Wl HUALHS 0ol Ueg[d v
4 | Very exceptional research WO % AU L6 Yol
Q.91 Which type of hypothesis is “There is difference between job satisfaction of the teachers of government

and private secondary school ?

U513 3l W] HIEA (LS A0l (R118)ell S1 UAN A2 dslad 8.7 w54l USIRe{l Geseueil & ?

Question ID:
Marks 1 10090133
No Options Details Correct Option
1 | Null QI
2 | Non-Directional [0 [e2114US v
3 | Directional [eRLIYUS
4 | Statistical vilsslellEld
Q.92 The primary purpose of ICT integration is for
ICT «ll ¥H=d (integration)l UIA[Hs &d B.
Question ID:
Marks 1 10090134
No Options Details Correct Option

1 | Promoting concerns for economy in use of
resources

dldlell GUALIHL AL[S tleddl 3] [cRl 1R Ul

2 | Enhancing student’s involvement in learning

VAU [dellelled] AH|AR] quRdl

3 | Reducing workload of teachers in terms of
transactional hours

¥ [Uslel] SELS]oll AeHHL [218sleAl SIIMIR U

4 | Optimising learning outcomes

VYol (B[] dild]




Q.93 Flander’s interaction analysis system is

sASRedl UidAsul ([arNl uLlLel 8.
Question ID:
Marks 1 10090135
No Options Details Correct Option
1 | Teacher dominant [el&1s veildl] v
2 | Student dominant [a&edl veildl
3 | Non-verbal in nature Y| ¢[Bu] w2Qll[0es
4 | Non-observational (0ol ag]seild
Q.94 What is the full form of MOOC ?
MOOC ¢f Y2 <l 14 8] & ?
Question ID:
Marks 1 10090136
No Options Details Correct Option
1 | Massive Online Offline Course Massive Online Offline Course
2 | Multilevel Online Open Course Multilevel Online Open Course
3 | Massive Online Open Content Massive Online Open Content
4 | Massive Open Online Course Massive Open Online Course v
Q.95 Who gave information system success model ?
Hiledl wLiEl Asndl uldist 519 M1 g ?
Question ID:
Marks 1 10090137
No Options Details Correct Option
1 | Denial and McLean SleAdd Wl H56 e
2 | DelLone and Marshal slaled w4 HiQld
3 | DelLone and McLean Sléalel 4o H 56l v
4 | DelLone and McLand Slaled 3o HsdoS
Q.96 In which act, provision is made for right to get free education up to the age of 18 to disable children ?
[Asaiol WloSletl sUL A (E[AAHH] 18 dNsfl GHR Y] Hsd (2181 Aoddlel) w(Es1Re{]l oAclleS ScIMT 241
Question ID:
Marks 1 10090138
No Options Details Correct Option
1 | Persons with Disability Act, 1995 [clsE1L el ui[tl[1dH 1995 v
2 | RCIAct RCI Act
3 | NCF 2005 NCF 2005
4 | NEP 1986 NEP 1986




Q.97 In which Act, provision is made for 4% reserved seats in government jobs for the persons with benchmark
disabilities ?
U131 Al SINU (A% HIUES (bench mark) Yosoietl weHd] (Sl U2 4% wetlHd As5lel %1l LE
Question ID:
Marks 1 10090139
No Options Details Correct Option
1 [ RPWD Act, 2016 RPWD Act, 2016 v
2 | RPWD Act, 2014 RPWD Act, 2014
3 | PWD Act, 1995 PWD Act, 1995
4 | RCI Act RCI Act
Q.98 The process of keeping flexibility in content, teaching process, evaluation process and in physical
environment in order to fulfil the requirement of all kinds of students including the “students require special
education needs” is known as
[AlRLe eiRLs sxRULd ulddi ([aaiela) uSld dHiH usletl [atielilef] aseRuld) Yul sl HI (AR
Question ID:
Marks 1 10090140
No Options Details Correct Option
1 | Environmental adaption U [ wei§Get (Adaption)
2 | Fulfilment of psychological needs Heild S5 ¥Rl YRldl
3 | Curriculum adaption WX M SH B 56 v
4 | Psychological flexibility HeildsiLlels dalysdl
Q.99 NEP - 2020 recommended that the regions of the country with large population of socio economically
disadvantage group would be declared as
NEP - 2020 2 ®@[HQl 53] © ¥ 2eletl AHIsS - 412 Id dRld (Ueld) 2geilofl culus ddl ylddl Wil
Question ID:
Marks 1 10090141
No Options Details Correct Option
1 | Special Education Zones [afele (L1l Bl v
2 | Special Economic Zones [alel® uL[es Pl
3 | Socio - Educational Zones Al LS - et(BLs Hled
4 | Socio - Economic Zones UHL[FS - viL[US Pl




Q.100 Person with Disability Act 1995 was formed under Article of Indian Constitution.

IR {8 RQIe] 1288 €601 (56210l W (el (UM 199501l Ul sAIM | Ld].
Question ID:

Marks 1 10090142
No Options Details Correct Option
1| 21A 21A
2 |15 15
3 | 253 253 v
4 (17 17




